                                                                                       Name:  ______________________
Chem 11 Chapter 6 Practice Test
1. Balance the following reactions:

a. ____NF3 → ____N2 + ____F2
b. ____H2SO4 + ____KOH → ____K2SO4 + ____H2O

c. ____C8H18 + ____O2 → ____CO2 + ____H2O
d. ____H3PO4 + ____NH4OH → ____H2O + ____(NH4)3PO4
e. ____C2H2 + ____O2 → ____CO2 + ____H2O

f. ____HCl + ____Al → ____H2 + ____AlCl3
g. ____H2O2 → ____H2O + ____O2
2. Classify each of the following reactions as exothermic or endothermic.
a. CH4 + 2O2 → CO2 + 2H2O    ΔH = -891kJ         ____________________
b. 2HCl + 864kJ → H2 + Cl2         ____________________
c. KClO3(s) + 41.4kJ → K+(aq) + ClO3-(aq)          ___________________

d. 2H2O + O2 → 2H2O2    ΔH = +232kJ          _____________________
3. Draw an energy diagram for the following reaction.  Be sure to properly label the axes of the graph, as well as label the products and reactants on the graph.
C12H22O11 + 12O2 → 12CO2 + 11H2O + 5638kJ

Is this reaction endothermic or exothermic?     ____________________

4. Predict the products of the following reactions.  Be sure to balance the equations afterwards.
a.     H2 +      Cl2 → 
b.     F2 +      NaI →

c.     CO2 →
d.     Cr2(SO4)3 +      K2CO3 →

e.     CH3OH +      O2 →

f.     Ag2O →
5. For each word reaction, write the correct balanced chemical reaction equation, including phases.

a. Aqueous barium chloride and aqueous sulfuric acid (H2SO4) react to produce hydrogen chloride gas and aqueous barium sulfate.

____________________________________________________________

b. Powdered beryllium chloride is heated to produce beryllium metal and chlorine gas.
____________________________________________________________

c. Aqueous hydrogen fluoride reacts with cobalt (III) hydroxide crystals to produce solid cobalt (III) fluoride and liquid water.

____________________________________________________________

6. For each reaction equation below, write the correct word reaction.

a. Sn(OH)4(aq) + HBr(aq) → H2O(l) + SnBr4(aq)
____________________________________________________________

____________________________________________________________

b. 4Na(s) + O2(g) → 2Na2O(s)
____________________________________________________________

____________________________________________________________

c. Mg + 2AgNO3 → Mg(NO3)2 + 2Ag
____________________________________________________________

____________________________________________________________

7. Classify each of the following reactions as one of the 5 major types.

a. Cu(NO3)2(aq) + Na2S(aq) → CuS(s) + 2NaNO3(aq)     ________________

b. 2HgO(s) + heat → 2Hg(l) + O2(g)     _________________

c. C5H12O2 + 7O2 → 5CO2 + 6H2O     __________________
d. 2Al(s)  + 3S(s) → Al2S3(s)     _________________
e. Mg + 2HCl → H2 + MgCl2     _________________
8. Fill in the blanks.

a. Another name for a double replacement reaction that happens between an 

acid and a base is __________________.

b. In an endothermic reaction, the products have _____________(more/less) energy than the reactants.

c. A ___________________ reaction involves breaking down a molecule into simpler substances.

d. If a substance is said to be in aqueous solution, it means that the substance 
is dissolved in __________________.
e. A system is said to be _______________ if nothing can enter or leave it.

f. An _______________ reaction gives off heat energy to its surroundings.

g. A __________________ reaction occurs when a substance burns in oxygen gas.

h. When two aqueous solutions are mixed and a solid forms in the bottom of 
the flask, we say that a ____________________ has been formed.
